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Rubric

a. 1 point for each correct answer

b. 1 point for the explanation

. 1 point for the explanation; 1 point for
the answer
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Name Date. Class
6.RP.3c
SELECTED RESPONSE 3. A 15% tip on a diner bill is $2.55. How
Select the correct answer. much s the bik?
1. What s 5% of 2007 @ s017
1 ® s0.38
® @© $17.00
® 10 @ $38.25
© 40 4. 56.25% of what number is 168.75?
@ 1,000 ®3
2. What s 120% of 507 ® 949219
® 24 @© 300
®6 @ 9.492.19
©e0 Select all correct answers.
® 6000 5. Choose all statements that are true.

@ 15% of 155 1
@ 5% of 50 is 10.
(© 10% of 100 is 10.
(D 2% of 100 is 5.
(> 3% 0 200 is 6.
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Match each library with its total number of books.

6. 30 books represent 2% of the total books at library 1 A 750 books
B 900 books
7. 45 books represent 5% of the total books at library 2
o € 1,500 books
8. 60 books represent 1% of the total books at library 3. D 2,000 books
9. 75 books represent 10% of the total books at library 4. E 3,000 books

10. 90 books represent 3% of the total books at library 5. F 6,000 books

CONSTRUCTED RESPONSE

11. The state sales tax rate for North Carolina is 4.75%. The state sales tax rate for South
Carolina is 6%. Shandra would like to buy a cookbook with a list price of $20.

a. If Shandra buys this book in North Carolina, how much would she pay for sales tax?

b. If she buys the same book on a trip to South Carolina, how much more sales tax would
she pay compared to North Carolina?
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12. a. 1.5% of what number is 60? 15% of
‘what number is 60? 150% of what
number is 60?

b. What pattem do you notice in part a?

©. 2.5% of 2,000 is 50. Explain how to
use the pattern you described in part
bto find 25% of what number is 50.

13. Jane will receive 18% less of her regular
pay when she retires. Her regular pay is
$500 per week.

a. How much would she receive per
‘week if she retires today?

b. Explain how you can calculate this
using 100% ~ 18% = 82%.

. Show why these calculations are
equivalent in general. (Hint: Write an
expression for finding an amount A
minus n% of A. Write another
expression for finding (100 — )% of
A, and then use algebra to show that
these two expressions are the same.)
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6.RP.3c Answers
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12

b.

6
$20x355=$1.20
$1.20-50.95=50.25

‘She would pay $0.25 more in sales tax in
South Carolina.

Rubric

o o

1 point

2 points

4,000; 400; 40

When the percent is multiplied by 10,
the resulting whole is divided by 10.
200; the percent changed from 2.5%
t0 25% (a multplication by 10), so the
whole, 2,000, will be divided by 10:
2,000 + 10 = 200. So, 25% of 200

s 50.

13. a. $410
b. Write 82% as a fraction with
denominator 100. Then multiply by
Jane’s regular pay.
82
100
The answer, $410, is the same as
parta.
c. To find n% of an amount A:
n nA
A-355 * A=A-Te5
Also:

100 n
[m - ﬁ)‘
Use the distributive property and

simpiify.
[mn n )A 100 n

« 500=410

1007700 /" <100 * #7700 4

nA
=A-160
Both methods result in the expression
A
00
Rubric
a. 1 point
b. 1 point
c. 4 points.




